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EL SCO-4OMMTTNICATION SYSIEI,ff¡

Time: lbree Ilours Maximr¡m : 80 ït¡eightdeþ

Atæwer allqurlstíotts.

1 Erplain the necessity of modulation-

2 Deñne frequency and phase modulation.

I \itthat is sigaal to noige ratio ?

4 llthat is single sideba¡d suppreesed ca¡rier modulaiton ?

6 Define bit of information-

6 \[¡hat are equiprobable events ?

7 llVhat is meant by the code of tbe Bondot form ?

I Srhat a¡e the limitatione of a TRF receiver ?

I Wha¡ is meant by imrgo Êequency ?

10 What does a noise limiter do in a AIÌf recoi'¡er ?

11 \¡tlhat is meant by difraction of radio waves ?

19 What ig meant þ ßadio Horizon'in relation to spcce wave propagation ?

tLZxYt= Sweightage)

18 In an FM system if mf is doubled þ having the modulaüion ftequency, what will be the effest

on the rnaoimurn dwiation ?

14 What is a{iacent-channel interferencp ?

15 Distinguish behreen possibility and prcbabiliüy.

16 Ttlhat is the efrest on nois€ in an infomation carrying channel ?

L7 Bring out the difrerence behreen pulse modulation on one side a¡d amplittrde modulation on

the otber side.



o

20 Bring out the differences between AM aud FM receivers.

2L Erplain the principles of refraction of electromagnetrc wav6s.

(9x1=9weightage)

Answer ary five questions :

22 Define amplitude modulation and nnodulation index. Use a sketch to explain AI![.

2g Give a comparison of wideband and na¡rowba¡rd ÌM.

24 Define a bit of iuformation. \ühat are equiportable eveuts ? How rs the mrmber of bits of
i¡formation required in a situation calculated ?

26 Explaiu PCM. Show how an irregular somplet€ was forãr can be quantized.

26 Explain what is meant by AGC. Give its functions.

2f Describe the difference between lM and AI\{ r'eceivers"

28 Discuss ¿þg 6ain abnormal ionosphere variations.
(5x2=l0weiglrtage)

Answer arty two z

29 Derive an expression for the depth of modulation in an AIVI transmitter. Find the rolatiou
betrreen output porver and depth of modulation. If a 600 watt carríer is modualted to a depth
of 0.6, calculate the total power in tl¡e modulated wave"

30 rüith the help of a block diagram, explain the working of Superheterodyne.

31 \trrite short note on (a) Skip distance ; (b) Maxdmum usable frequency ; (c) Obtain an erpression
for the skip distance in terms of <ritical freqrrency ofl tlre layer.

(2x4=Sweightage)
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